EARAROBEEIERT — 2 N— IBISH —F

20165F4A9H () 2mpR#H5H

mﬁi% 3% 500AT GRA) (s E& ‘ (Xfg] B ‘ [REmsh]  — |2 (&) 16000 HE
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: 9| NTYLIWENT # 3 sl\g-_OT‘!—\—D 1:(3_4).0 12-13  33.9] 91.9 | 2 | 452 %%i &R
LT RTA N L— BEALIRIN I R A
i “ 4 3 | HILELF 1:34.0 9-11 34.1]1 920 | 8 434 | AL (RR)
2[7/10| 7T bETFAY 56.0 (7€) o) |IIBER-LF (TR @)
LNn—E>Tv— B:ov1Z2JT7LF BT 7 —L4
S st 3 | JIIESH 1:34.3 5-7 34.7|88.8| 3 490 | FHEE= (R®R)
3|81z F7 -7 5.0 (1 3/4) © | @ pFvIE-aF2
RigAF 0 ML Bz U—NLLYT =R
R e . _ BEER (FEXR)
4 g| 1 7FA1O~ 4 3 e 1.7311:13 1-1 35.2| 88.9 | 1 (4;0) e
R:x>inMn— B:vVIHhYEIL—> KEaT 7 — L
o . IVivN . — HPEE
5 9 Ea7a>F Lk % 3 éio 1(.13/42.>4 9-9 34.7| 87.8 | 11 ;1;34) EEE& (E=R)
LixkyyH/xeF B:IZXALFIb HET7—L
3 5 4 3 | FlREX 1:34.5 9-9 34.8| 8.7 | 7 492 | BREBFIZ (BR=)
6 5| EFM—TI 56.0 (1/2) (-6) |FZE==itE
RiAfYauK—5— B:or—s70-F HE R
S 4 3 | BEREMAETT 1:34.7 12-11 34.8| 845 | 9 476 | PRERE (Ex)
71111 | B—FXZ— 56.0 (1 1/4) © |H HOYI 7 ENXE
LT RIAY L= BT—054v o0y A—L— - TviX> - Tp—LERE
o, R s 4 3 | BAKHE— 1:34. 5-5 35.3| 83.7 | 4 466 | /NEE (ER)
gl5|7| 73V T=R 54.0 (7€) o | B HeF-L—sy
RT= W RTPYa—b B:Y—XA Ry ST J—HTr— L
S 4 3 | AEEN 1:34.9 2-2 35.6 | 82.9 | 13 400 | TR (ER)
9/5|6|P7VE-FZX 54.0 (1/2) (-6) | PNEESF
RF—TANT N BigyU—Z— HEE e
S N N5 5 :35. = . . #uT (ER)
ol 1yl r>w 7770 b 4 3 L 1(13/52>o 2-2 35.7| 81.9 | 10 (4:138) :;E%%
L —NFXYLTF— BIAS NI — RYFRF—T I
.5 e i 3 | FRE 1:35.3 5-7 35.7| 78.8 | 12 | 43 |PRRE (ER)
1 4| P71 XE—-L #¢55.0 (1 3/4) (+10) | HRERELE
RN—ELVr— BT h—XYLIAX AR
= S LS s 8B B 3 | C. ux—J 1:36.1 5-5 36.6| 71.8 | 6 | 432 |AREF (RR)
1oEN3 | TV Ty Y (5) (Ha) |, OB) HEL—2%K=2
XL ThANAN BFTULTN— b HET7—L
P A, o s 4 3 | FMEEZ 1:36.5 2-4 37.1| 68.5| 5 462 | AHE (ER)
13)8[13 # 7V T2~ 56.0 2172 Ca | GR) sbHs
LT RYAYTy IR BhH Vv /XEF pul e
@ 71 L
) 46.8-34.9
NO>24 L | 12.5-11.4-11.4-11.9-11.9-11.4-11.2-12.3
® I —F—@EBIERL
12—7—
23—7F—
33—7F— |8(6,11,13)(3,4,7,12) (2,5,10) (1,9)
40—5+— [8(6,11)13(3,7) (4,12) (2,5) (1,10)9
[ RN
B OB 9 330H 714K 9-10 1,110H e & 6-7 1,150 &R 9-10-12 4,250
8 B 9 160 9-12 260M B & 9-10 3,910 3B 9-10-12 25,840
10 530M 10-12 1,210 B H 9-10 5,610M
12 180F4

ABICOVWTRDTEEERROODE. TR LIV,




